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1] Using the points A(-6, -2) and B(3, 2), for segment AB find the:
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a] slope of AB Z-Z = "._L! . q
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b] midpoint of AB(~'e4d  “ZEE\

c] equation of the line containing AB, in General Form l‘"‘(-'q -:-C_

d] equation of the circle with AB as its diameter
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2] AABC joins the points A(-4, 6)
a right triangle.
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3] Determine the center and radius of the c:.rcle
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4] Sketch the following graphs.
calculator to aid in your skekgh.
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Determine any x and/or y intercepts.
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Show whether AABC is or is not
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Use the graphing
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5] Write the equation of each line in General Form.
a] slope of 4 and passes through (-1, 6)4"('“\-‘: C ‘4‘(0:(:' (=-10 Li\‘ "_‘\z -10
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b] passes through (-3, 2) and (-4, 7) M= SK*\{‘-C “1542=C (:‘l?) 5)( \":\"‘"‘ -y I)

c] passes through (4, -2) and is parallel to 3x — y = 9 —5X-' qu ‘Ll-
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